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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.

Cutting or filling two or more circles will result in zero mark in that question.

The relation between v, f and Aof awave is : a_.uwul.«v-ﬁg’qf: 1 "*:(/ U’U;d/,-’:._f 1 -1
A
vAi=f (D) veo©) o fAEY (B W
S
Which is an example of a longitudinal wave : N Ji d/ 74 Jjgﬁ.’g’ 2
Light wave :’«JJ}J (B) Sound wave #5435 (A)
Water wave s dL (D) Radio wave #:/4. (C)
Index of refraction of diamond is : : LLC/::{/;J._E TJE}J’K‘;}& 3
2.42 (D) 2.21 (C) 1.66 (B) 1.52 (A)
Speed of light in water is : : {_dﬂ,:g—;“d/d}zﬂdg 4
Ix108ms™ (D) 2x10%ms™' (€) 2:3x10%ms™ (B)  3x10°ms™' (A)
S.1 unit of charge is : D e (S) d!J‘lKZ/ b 5
Coulomb o4 (D)  Volt2hs (C)  Newton % (B) Kg ¥ ()
One valt is equal to : : c:_t“ﬁ/.!/...:):_:ug 6
INCT' (D) t HE* (C) 1JC7 (B) 1JC (A)
When we double the voltage in a simple : ‘L.&Lvﬂ L&fw!ﬁfdc)f?ug“@.:/b—’g»:%-_!ﬂj)u:._*{/wbugﬁ_,a 7
electric circuit, we double the .
Both A& B Us B ./ A (D) Resistance JY o (C)  Power 44 (B) Current s (A)
Mathematical form of Chm's Law is - Luu(u:? G’ﬁr’"ﬂsi 8
w=Q/VvV (D) Q=It (C} V=IR (B) P=1V (A)
A device which converts electrical energy into c"..t‘lkf -iz.t/g,é KIS S asa f&)lgﬁ-}g 2 TALH 9
mechanical energy is called :
| All of these rv, (D) Transformer 241} (C) Generator 272 (B) D.C. motor S8 (A)
The process by which electrons are emitted by a hot c...t‘U/ u:{uiw/:/ﬂ I u(/ J L,J'" AV /l’LJi 10
metal surface is known as :
Evaporation gl (B) Boiling By (A)
Thermionic emission ¢**fx’# (D) Conduction &©% (C)
What does the term e-mail stand for : : Luu; Ké‘.u’/ J g1
Electronic mail J<uts /-"Jf Emergency mail £ ZANGY
External mail JfJ/f ! (D Extra mail A /-):l (C)
One isotope of uranium is 2328U . The number :‘:.J')ﬂndlfsfiuﬁf;fffgﬁ —& 92U ..«;‘:'J \.Qgﬁ.“'-',qf 12
of neutrons in this isotope is :
330 (D) 146 (C) 238 (B) 92 (A)
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10 2. Write short answers to any Five (5) questions : ; d_-;yrxf"?éamr (5) é,l; & Jf -2
(i) What is meant by time period? fe ol V < 45 “ (i)
(ii) State Joule's law. JE Yk wiE K U2 i)
(iii) What is difference between musical sound and noise? e J/ L;’/ A sl B3 (i)
(iv) What is audible frequency range? fe L;( & J ﬁ:gf =fe JE(iv)
(v} Define intensity of sound. -2.‘:( ...e_i/;’. J Loy ) J 23k (V)
(vi) Define current and write its unit. el K ..;-_1/7 J o/ (vi)
(vii) Define unit "Ohm". gk e Pl 7 ey (vii)
(viif) What is the work of fuse? - Lf § e (viii)
10 3. Write short answers to any Five (5) questions : ooy 5) 8L = & -3
(i) 1f P =6cm, F=10cm miror is concave, find g7 -Zfi:pj"’ q fwy”sF=10cm P =6cm /i (i)
(i) What is meant by critical angle? e s = ﬁl s ; (i)
(iii) Write two uses of optical fibre. & et gy L A6 ST (i)
" (iv) Define capacitance. LS s S (W)
(v) Define electrical potential. *Z: _,g/“ ;,( J.&.nﬁ 2 u}gj (v)
(vi} What is meant by telecommunication? S oly Vo oSl )-uf . (vi)
{vii} What is meant by data management? e sl Y = Sade B (vii)
(viii) wvrite two services of internet. -?.f:( ;f <A 9 J 2 A (Vi)
10 4. Write short answers to any Five (5) questions : : é‘ablﬁjﬂéaﬂf{ (5) ét P Jf -4
(i) State Fleming's left hand rule. Bk U K A UL b’...{'.u.,dé (i)
(ii) What is meant by step down transformer? e iy V< s g _;;" (i)

(iii) Write the parts name of cathode ray oscilloscope. _.é ¢t L s vl ..:«:c A e 5,3-'1, {iit)
: 5, " ;
(iv) NAND is a universal gate, give its symbol and -é-h%ﬁ/))l.:'/&p(gj JrE ,J’}xg-_‘fl NAND (iv)

truth tabie. " .
(v} Define thermionic emission. -é i n,{ cﬁl ..fx,’/ {v)
(Vi) What is meant by half life of radioactive element? e Jl/ Ve I Sy 8w 2L gk (i)
(vii) Define carbon dating. -é'fi -/ J LS K (vii)
(Vi) Write two characteristics of [ particles. & o 2 1 (J?J_E ( B) e (viii)

( PART-1I ¢ )
Note : Attempt any TWO questions. ' _éh-puzé.:.mr 2 c:.éf P <

4 5. (a) Whatare mechanical waves? Describe its types e u:"&rtﬁiurw ?ugyﬁ,_f,dﬂ%’“ () -5
with examples. ' X
5 (Lot o Gt 16 om SEIRN oy 2262 105 om 570 30 1 ()
(b) An object 30 cm tall is focated 10.5 cm from a concave mirror with focal -2_‘5 (;1"" QL sl
length 16 cm. Find the location and height of the image. ’

4 6. (a) Explain one application and one hazard of -éyus JW..{!;:IJMHQK&/&QL@’ (W) -6
static electricity.

5 i 2 i) 15 A e F N e 10V ABFHIAIL YD)

(b) By applying a potential difference of 10 V across a conductor, a current of LS
1.5 A passes through it. How much energy would be obtained from the current in 2 minutes?

7. (a) Explain in detail about compact disc {and flash drive, - 22 7 Aadi g bﬁﬁsbﬁimbﬂl) =7
5. -éﬂg}f&zﬁ; -3 Lﬂé’_ Wf&d}q}t‘&fgld/'lﬁl - 'ﬂJKu:ﬁszu:J&h'g ( n-f)

(b) Ashes from a campfire deep in a cave show carbon-14 activity of only one-eighth the activity
of fresh wood. How long ago was that campfire made?
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fili that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zerc mark in that question.

Which part of a D.C. motor ?Q;‘/J_ZJP[MJJ/LU%Lp’:u}'lj'i’fégf;‘v&)i?ﬁlft)fg}f § Ui
reverses the direction of current through the coil every half cycle
Slip rings /x?} (D) Brushes -z (C) Commutator A (B) Armmature £.7 (A)

Which is the most suitable means of reliable <. w,ﬁzus A j..\.af Aol il bfu‘L:wZ_ el | 2
continuous communication between an orbiting satellite and earth :

Radio-waves i ss {B) Microwaves J,gu/?l. (A)
Any light wave #s27U($* s (D) Sound-waves Jj#s43L- (C)

What is the voltage across a  © ¢ bsrzeailsey AL i s et JaS BAcae Sl 6Q 113
6 Q resistor when 3 A of current passes through it :

BV (D) 18V (C) SV (B) 2V (A
Which of the following is not processing : : c;.u‘fi-é:‘){f L/uf 4
Manipulating /2752 (B) Arranging . Lo’ (A)
Gathering /&1 (D) Calculating t/_0_t> (C)
In vacuum, all electromagnetic waves have the same : : ugﬁ“‘:o’f_g;g:u@g‘;}?irv“uirzg 5
Wavelength j’%’: (D) Amplitude 3% (C) Frequency S5 (B)  Speed 4r (A)
The particles emitted from a hot cathode surface are : ! u’.’LM Unlilbe i’J iﬁ?)j’/b%gd:l 6

Electrons 7291 (D) Protons '/';3:4 (C) Negative ions f’Tﬁ'@ (B) Positive ions y':T}:.J; (A)

For a normal person, audible frequency range for sound wave :r:_».wJ u’”:':": )d/iibfcf k‘d‘ G'%J_f. i3, TrL:....i;i 7
lies between :
30 Hz-30KHz (D) 25Hz-25KHz (C) 20Hz-20KHz (B) 10 Hz - 10 KHz (A)

Unit of charge is : e iy K Lok |8
Ampere 4% (D)  Coulomb o (C) Watt &t (B) - Ohm (sl (A)

The types of spherical mirrors are : : uf('lﬁld/};/ﬂ/f’ 9
8 (D) 6 (C) 4 (B) 2 {A)

3 b - A o
Which of the following quantity is not changed during : dﬁu.?U: .e:}iﬁ'u’ui::,. o J’_; SaarMind cf'g j*&,ﬁ; 10
refraction of kght :

Its speed sedU1 (B) s direction  =~UuUT (A)
lts wavelength J'%JJJF (D) its frequency &5 /01 (C)
One of the isotope of uranium is ZSSU . :;.)IﬂuJﬁs}fd?ﬁflTJ | < 23§U T_ﬁf/?'..,ﬁ(ﬂ,%g 11
The number of neutrons in this isctope is :
330 (D) 238 (C) 146 (B) 92 (A)
Capacitance is defined as D L}%JC)’J’J/‘;{}/J&U‘.{ 12
V/Q (D) Qv (©) Q/V (B) Ve (A)
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10 2. Write short answers to any Five (5) questions : é Lli/"Z,._,Ulr (5) é,t = Jf -2
(i) How can you define the term wave? £ S _ﬂ/ d/ - d/ 23 (i)
(it} What is meant by diffraction of wave? ('c:. i U/ \_,.uL)aa g ¥ (i)

(iii) Define pitch of sound. What is the relfation “LUL‘)UJL,"*:(/J:FCJMV c‘f _.u/’ d/ C J k3L (i)

between pitch and frequency of sound? ' y
(iv) Calculate the frequency of ~» 0.5 m i%’: s 340 ms” Q{J)ﬁfﬁ ’c_é(:""ﬁ:k/gfig:l‘il/ {iv)

a sound wave of speed 340 ms™ and wavelength 0.5 m.

(v) What is the audible frequency range for human ear? W1 v’J"JFJ)SL’J #’chJ_c..uKJLJI (V)
(vi) Define electric current and write its unit. ,_é 2K S S oSS S _f/ﬁ; (vi)
(vii) State Jouie's law. ' _éi_/ Wl UIT § U7 {vii)
(viii) What is difference between musical sound and noise? e J/ L-( e 5 ) kS R (Vi)
10 3. Write short answers fo any Five (5) questions : éf...wﬂé..,mr (5) él. & Jf <3
(1) Draw the ray diagram of refracting telescope. -l I/LU e J - (}; ﬂ 7 D
{ii) How farsightedness defect can be corrected? fo b “K b \f 433 dl 'l g_f'd L (j/'w“ (ii)
(iif} Define resolving power of an instrument. "c_ Ar b Ve 1 .f:’vz (iii)

(iv) Define electric field intensity and write its unit. _szdﬂ{J sl .:.‘Z.J/”J J.me J/”J L (iv)
S A W

(v) Define dielectric.

(vi) Define software. _é ey S msdy (Vi)
(vii) What is meant by optical fibre? S sy L Ve # ) J/’ (vii)
(viil) Define " ICT " ( in information technology). (u‘-J}’L‘Cu/M )_.c{_a’/"d (ICT )Jo’d’ (viii)
10 4. Write short answers to any Five (5) questions : JWLL?/‘:"Z..‘UV 5) ét - J/ -4
(i} Define Fieming's left hand rule. e ALV 7 ()
(ii) State Lens's law. rf: Uk P E A i)

(ili) Write different name of component of cathode _“L‘J rt Lo ik L :‘i}‘sf P »’/ (iif)

ray oscilloscope.
(iv) Draw diagram of NAND gate and write its truth table. _éwﬁ')/(u b st &t Jﬁ’ J J & (iv)

(v) Define digital eiectronics. é J/“ e ) J.L(_L.\! L}"f 3 (V)
{vi} Define isotopes. _é ...v/’ d AT (vi)
{vii) Describe two uses of radio isotopes. _é Wb = YT s L u’J:’r‘ T yis  (vii)
{viii) Define nuclear fusion. i .._.v/" d/ u;f/‘gc (wviii)
( PART-1I (1 )
Note : Attempt any TWO questions. - ..,.«Qlféuwr » c:..J/ FOV
4 5. (a) Prove that motion of a mass - Jr..waJrJr‘d/dLr..fé’.,vm’tfcf.j/fi_zh‘ () -5
attached to a spring is simple harmonic motion.
5 10 om dobe K EIbE e S oW b6 E S A e 15 em FESIH I (0)

(b} A concave lens has focal length of 15 cm. At what dlstance_ér)” m‘fﬁatf//- ¥

should the object from the lens be placed so that it forms an image
at 10 cm from the lens? Also find the magnification of lens.

4 6. (a) Explain Coulomb's Law. -é._»mgfu}béu)f (1) .8
5 (b) A current of 3 mA is flowing "a&,u/f,xbb’fu'/!: wr_,i/._x/ 3mA Lo "1 e L L ()
through a wire for '1' minute. What is the charge fIOng through the wire?
4 7. (a) Differentiate between -.:';J (LS ey il JRss ¥ -.:f:u/u"j:;..*.:’r s zshiy (D 7
hardware and software. Alsc write name of different hardwares and softwares.
5 *F oo 3o TE1a SIS 60-2 it 26 e Ju 5.25 S1tS 60-2AE ks (L)
(b) Cobalt-60 is a radio active element with half life of 5. 25 years. What fraction of the original

sample will be left after 26 years?
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